

<i>Dersom ...</i>	<i>so gjeld at ...</i>
$0 = ax^2 + bx + c$	$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$
$f(x) = x^n$	$f'(x) = nx^{n-1}$
$f(x) = \frac{1}{x}$	$f'(x) = -\frac{1}{x^2}$
$f(x) = c \cdot g(x)$	$f'(x) = c \cdot g'(x)$
$f(x) = e^x$	$f'(x) = e^x$
$f(x) = \ln x$	$f'(x) = \frac{1}{x}$
$F(x) = f(g(x))$	$F'(x) = f'(g(x)) \cdot g'(x)$

<i>Dersom ...</i>	<i>so gjeld at ...</i>
$f(x) = g(x) + h(x)$	$f'(x) = g'(x) + h'(x)$
$f(x) = g(x) \cdot h(x)$	$f'(x) = g'(x)h(x) + g(x)h'(x)$
$f(x) = \frac{p(x)}{q(x)}$	$f'(x) = \frac{p'(x)q(x) - p(x)q'(x)}{(q(x))^2}$

<i>Andre sammenhengar</i>	
$a^{-n} = \frac{1}{a^n}$	$\ln a^x = x \cdot \ln a$
$e^{\ln x} = x$	$\ln e^x = x$
$\sum_{i=0}^{n-1} v^i = \frac{v^n - 1}{v - 1}$	